From: EPA ENERGY STAR [mailto:UnitShipmentData@energystar.gov]
Sent: Monday, January 23, 2012 11:51 AM

To: [ENERGY STAR Contact]

Subject: US EPA ENERGY STAR 2011 Unit Shipment Data Collection

program helping businesses and individuals fight global

ene rgYSta I, g oV warming through superior energy efficiency.

h LEARN MORE AT ENERGY STAR® is a U.S. Environmental Protection Agency
g3

Dear [ENERGY STAR Imaging Equipment Partner]:

The U.S. EPA sent you a request on Monday, January 9, 2012, to collect ICF - Placeholder’s calendar
year 2011 unit shipment data for ENERGY STAR qualified imaging equipment. Please note the form
attached to that email inadvertently omitted impact printers from Row 38. Please find a corrected
version of the form attached. If you have already submitted an imaging equipment form, and shipped no
large format impact printers in calendar year 2011, there is no need to submit the corrected version of
the form attached to this email. Otherwise, if you did ship large format impact printers in calendar year
2011, then please do submit the corrected version of the form.

Thank you for your support of ENERGY STAR.

|
For more information, visit: ‘

This message was sent to you on behalf of ENERGY STAR. Each ENERGY STAR partner organization must have at least one primary contact receiving

e-mail to maintain partnership. If you are no longer working on ENERGY STAR, and wish to be removed as a contact, please update your contact status in

your MESA account. If you are not a partner organization and wish to opt out of receiving e-mails, you may call the ENERGY STAR Hotline at 1-888-782-

7937 and request to have your mass mail settings changed. Unsubscribing means that you will no longer receive program-wide or product-specific e-mails
from ENERGY STAR.
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